AtLIERK

A#LIZfFLI=FIE

THEFE MERFEEE TEH-ANISR HETRIS

Af & AR THMEFE5A298 | FEME CHERIRE) ¥5,987,273
FEER ARTES HisiREE e+ £ E
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1 | AR EXRER 5,900,000 RE

2 |t THER 5,930,000

3 [mELRK 5,985,000

4 | AR LHEH 5,987,200

5 [REER Mt 5,987,273

6 |RREE 5,987,273
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¥ SEOFREFRMEERVREFBRBEEEITENESYTT,
B K | BR A 4% 5,265,207 M
ISR @S = 87.94 %
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Af & AR THMEFE5A298 | FEME CHERIRE) ¥9,845,455
FER ETFKER E 35 R
AtLE ®%8 (FD Ayt—o ]

1| KERE #A=4 9,750,000 RE

2 |MXett REIHE 9,845,000

3 Bt #AHE 9,845,455

4 |KEER B 9,845,455

5 |ARSH KEEHR 9,845,455

6 [\EEEX AR 9,845,455
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¥ SEOFREFRMEERVREFBRBEEEITENESYTT,
B K | BR A 4% 8,681,722 A
ISR @S = 88.18 %
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Af & AR THMEFE5A298 | FEME CHERIRE) ¥20,661,819
FER s iR BER E 3 TR—=K
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1 |ARS# RAHE 20,400,000 RE

2 Xt ®REEE 20,500,000

3 |ARs4 AmUERIE 20,500,000

4 |HAs NEEFREE 20,660,000

5 [{ROEHKR HA=H 20,660,000

6 |#X=tt WEME 20,661,000

7 | FITEX 20,661,000

8

9

10

11

12

13

14

15

16

17

18

¥ SEOFREFRMEERVREFBRBEEEITENESYTT,
B K | BR A 4% 18,692,746 M
ISR @S = 90.47 %
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Af & AR THMEFE5A298 | FEME CHERIRE) ¥7,210,000

FEER HRFE thigiRER e+ L E
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1 | ARz FRER 7,140,000 RE

2 |BERE4t Rt 7,160,000

3 |BR=4 BEEM 7,190,000

4 MR HEEE 7,200,000

5 |[ARE4 HITESR 7,200,000

6 |[MXett &k 7,210,000
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¥ SEOREHRMEERVERERBMERETREOESYTT,
= 1Kl R {H 4% 6,364,266 M
=K HI PR M 4% 2= 88.27 %
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At & A B THMEFSA298 | TEME CHERRE) ¥8,902,728
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1 |BR&# HERE 8,000,000 RE

2 | K &4t 8,016,800

3 |BERSH LUTAER 8,033,000

4 |B%AEH KHEHR 8,065,000

5 %Xt HrbhDEER 8,075,000
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¥ SEOREHRMEERVERERBMERETREOESYTT,
= 1Kl R {H 4% 7,895,828 H
=K HI PR M 4% 2= 88.69 %
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AR FHAHIE

1,666,000

AR FEERE

1,700,000

BR& #MNKEIEE

1,629,000
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